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Initialization
BSimp = Factor; SetAttributes[pCollect, Listable];
BCollect[B[w_, A_]] := B[BSimp[w],
Collect[A, h, Collect[n, t, BSimp] &]];
BForm[B[w_, A_]] := Module[{ts, hs, M},
ts = Union[Cases[B[w, A], ty_:=» u, Infinity]];
hs = Union[Cases[B[w, A], hx_ = X, Infinity]];
M = Outer[pSimp[Coefficient[a, hy t2]1] &, hs, ts];
PrependTo[M, t,; & /e ts];
M = Prepend[Transpose[M], Prepend[h; & /@ hs, w]];
MatrixForm[M]];
BForm[else_]1 := else /. B_B =» BForm[B];
Format[B_B, StandardForm] := BForm[p];
Program
u_)y == pu /. t 51;
tmy v ow [B_1 = pCollect([p /. tyv -4l
hmy y .z [Blw_, A_]] := Module]
{a: D[A, hy], ﬁ:D[A, hy], ¥Y=A /. hyy - 0},
Blw, (a+ (1+<ay) B) hz+vy] // BCoIIect];
SWy x_[B[w_, A_]] := Module[{a, B, ¥, &, €},
a = Coefficient[a, hyty]l; B = D[A, t ] /- hy » O;
't DA, hx]l /- t, » O; 6§ =A/. hy|ty » O;
€ = 1+a;
Bluxe, a(l+(y)/e)hyty + B(1+{¥)/€) Ty

+y/ €hy + 6-yxB /€
1 // BCollect];
Mg b e [B_1 == B // SWap // hMap,c // tMap,c;
B /: Blwl , Al _]B[w2_, A2 ] := Blowlxw2, Al+A2];
RPap_ = B[1, (X-1) tahp];
Rma p_ 2= B[1, (X*-1)tahp];
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{B = B[w, Sum[aos.; ti hy. (i, {1,2,3}}, {J.{4,5}}]].
(B /7 €Myo,q // SWia) == (B // SWpq // SWiq // tle-»l)}
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DO[B = B // gm]_k_,]_, {ks 2’ 10}]; B
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